hbINDHELYNIA (1) nz2

67+ Q9 = 24+ 05 = 68+ 7 =
30+ 4 = 19+ 4 = 16+ 2 =
00+ '/ = @+ 2= 29+ 8 =
26— 3 = 17+ 6 = 4 -3 =
43+ 8 = 43+ 5 = 37+ 8 =
10+ 4 = 29+ Q9 = 37+ 4 =
38+ 6 = 14+ 3 = 45+ 6 =

https://cms.oklab.ed.jp/preclass/index.cfm/1, html [HIFTH H AGEA) TR E 2=



HhINDHEL)YIAL (2) w2

8+ 3= 48+ 7 = 0+ 4 =
37— 5Hb = 21+ b = 26— 4 =
41+ 9 = 69+ 9 = 24+ Q9 =
20— = 17+ 2 = 3+ 6 =
Q=2 = 38+ 8 = Q=2 =
44 = '] = 17+ 3 = 8+ '/ =
26— 4 = 28— 6 = 13+ 5H =

https://cms.oklab.ed.jp/preclass/index.cfm/1, html [HIFTH H AGEA) TR E 2=



hINDHEH)IAL (3) ni2

44+ 8 = 53+ 8 = 17+ 3 =
44+ 7 = 1+ 2= 4+ 3=
26+ 4 = 4+ 3 = 13+ 5 =
26+ 3 = 14+ 3 = 77+ 8 =
9+ 4 = 20+ 7 = 26+ 4 =
50+ 9 = 49+ 5 = 38+ 9 =
4o+ 6 = 43+ 7 = 17+ 2 =

https://cms.oklab.ed.jp/preclass/index.cfm/1, html [HIFTH H AGEA) TR E 2=



hINDHLEH)IA (4) ni2

196 =

26 =

33+-5 =

22+ 4 = 3b+ 4 =
/= 3= 24+~ 7] =
16+ 9 = 46+ 6 =
8+ 6= 39+ 8 =
49+ Q = 26~ 3 =
47+ 5 = 2+ 3=
b+ 2 = 17+ 3 =

https://cms.oklab.ed.jp/preclass/index.cfm/1, html [HIFTH H AGEA) TR E 2=



